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Time Lags Regarding Monetary and Fiscal Policy
1. When is the Fed more likely to increase the money supply and why?

The Fed is likely to increase the money supply during times of low output and low inflation.

Difficulty: E

Type: C



2. Suppose that there is a stock market crash in which the market loses twenty percent of its value in one day. Furthermore, assume that the crash leads to further pessimism that the market will crash again. What likely impact will this have on GDP and why?

If the market were to crash by twenty percent and the public became even more pessimistic this could generate another wave of selling which would drive the market down even further. The loss of wealth will likely have the effect of driving consumption down which will cause GDP to contract through the force of the multiplier.

Difficulty: E

Type: C



3. When is the Fed more likely to decrease the money supply and why?

The Fed is likely to decrease the money supply during times of high output and high inflation. The reason is that this gives the Fed opportunity to keep inflation in check without doing much harm to output.
Difficulty: E

Type: C



4. How is the Fed likely to respond during periods of recessionary decline? Make sure to include in your answer the change in the money supply and interest rates.

The Federal Reserve will likely increase the money supply to decrease interest rates.

Difficulty: E

Type: C



5. How is the Fed likely to respond during periods of excessive expansionary growth that is characterized by strong inflationary pressures? Make sure to include in your answer the change in the money supply and interest rates.

The Federal Reserve will likely decrease the money supply to increase interest rates.

Difficulty: E

Type: C



6. Explain why stagflation is a more difficult problem to solve for the Fed than others.

If the Fed expands the money supply, output will rise, but so will the inflation rate. If the Fed contracts the money supply, the inflation rate will fall, but so will output. The Fed is faced with a trade-off. It either must fight the inflation with the certain risk of raising unemployment or fight the unemployment with the risk of facing further inflation.
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Difficulty: E

Type: C



7. Assume two different economies: one represented by AD1 and one represented by AD2. Which economy would the Fed be more inclined to expand the money supply and why? Demonstrate your answer by drawing in the new demand curve that would result.
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The Fed would be more willing to expand the money supply if the economy were at AD1.  The reason is that it will result in an increase in output with very little increase in the price level.

Difficulty: E

Type: A



8. What kind of impact on the economy will there be from a contractionary monetary policy when the economy is suffering from stagflation?

The economy will experience lower inflation and a lower level of output.

Difficulty: E

Type: C



9. Explain what economists mean by the Fed “leaning against the wind”.

This practice refers to the Fed’s use of open market operations to raise interest rates gradually to try to prevent the economy from expanding too quickly. When the economy contracts, the Fed lowers interest rates gradually to lessen the contraction.
          
Difficulty: E

Type: C
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10. According to the above graph what kind of action is the Fed likely to take and why? You may assume at Po is highly inflationary and that Yo represents full-employment output. Draw in the new aggregate demand curve to support your answer.

The Fed is likely to contract the money supply when the economy is experiencing a high level of output coupled with high inflation. The aggregate demand curve will shift to the left as pictured below:
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Difficulty: M

Type: A



11. If an increase in government spending had a multiplier expanded effect upon GDP of $200 billion and the deficit response index is .15, calculate the amount by which the deficit will rise.

The deficit will increase by the amount of the increased government spending less the decrease of $200 billion x .15 = $30 billion brought about by increased tax revenue.

Difficulty: E

Type: A



12. When stock prices rise, what generally happens to the level of household wealth and consumption?

Household wealth and consumption both rise.

Difficulty: E

Type: F




13. Explain the use of stabilization policy.

Describes both monetary and fiscal policy, the goals of which are to smooth out fluctuations in output and employment and to keep prices as stable as possible.

Difficulty: E

Type: D



14. What did Milton Friedman mean by his criticism of stabilization policy when be compared it to a “fool in the shower?”

He was referring to the government stimulating or contracting the economy at the wrong times.

Difficulty: E

Type: F




15. Explain with the use of Milton Friedman’s “fool in the shower” analogy why policy makers efforts to combat recession often do not work.

The problem is that policy makers often do not recognize that the economy is in recession until it has already bottomed out. When the policy finally begins to have its impact, the economy is already on its road to recovery. This can lead to the economy overshooting its target. That is, excess inflationary pressure might result from the intervention. Like the “fool in the shower” who doesn’t wait for the warm water to kick in the Fed then reacts by implementing a contractionary policy to slow the inflation. Again, the policy doesn’t start having its full effect until the economy is starting to weaken. This tends to push GDP lower than what it might otherwise settle without intervention.

Difficulty: E

Type: C



16. What is a recognition lag?

It represents the time it takes for policy makers to recognize the existence of a boom or a slump.

Difficulty: E

Type: D



17. What is an implementation lag?

It represents the time it takes to put the desired policy into effect once economists and policy makers recognize that the economy is in a boom or a slump.

Difficulty: E

Type: D



18. What is a response lag?

It represents the time it takes for the economy to adjust to the new conditions after a new policy is implemented; the lag that occurs because of the operation of the economy itself.

Difficulty: E

Type: D



19. Why is it said that changes in government spending have a direct and immediate impact on the economy but changes in personal taxes have a delayed impact on the economy?

Changes in government spending are a component of aggregate expenditure. When government spending changes aggregate expenditure increases directly. However, with a tax cut for example, each household must decide what portion of the tax cut to spend and what portion to save. This extra step translates into a delay in its impact on spending and hence the economy.

Difficulty: E

Type: C



20. What would be the Federal Reserve's expansionary response to offset the effects of a decrease in government spending? 

The Federal Reserve would offset the effect of a decrease in government spending by expanding the nation's money supply. This would tend to lower interest rates, which would stimulate increases in private business investment spending. 

Difficulty: M

Type: A
21. Explain the nature of the implementation lag for fiscal policy. 

Discretionary fiscal policy measures most often require cooperative support from both the executive and legislative branches of government. Issues regarding government spending and taxes are often endlessly debated, reviewed, and changed, which leads to lengthy policy delays.  

Difficulty: M

Type: C
22. What is the most important determinant of the response lag for monetary policy? 

Monetary policy impacts on interest rates, which then affect consumer and business investment spending. The response lag is most dependent on the time that elapses before consumers and businesses react to the change in interest rates. The response lag will be very long if consumers and businesses fail to alter their spending as interest rates change. 

Difficulty: M

Type: C
23. What does the recognition lag imply about how well economic policy might work? 

The time that it takes policy makers to recognize what is happening in the economy means that the economic situation might change and the policies adopted might be inappropriate.   

Difficulty: M

Type: C
24. Explain why the time lags, in general, pose a challenge to policy makers. 

Suppose the economy is in a recession and policy makers do not recognize it. After some time they finally recognize the need to decide on a policy action. However, when they implement an expansionary policy, it still takes time for the economy to respond to such a policy. If something happens between recognizing the recession and the economy responding to the policy action,  the proposed policy might then be the wrong policy. 

Difficulty: M

Type: A
25. Identify the time lags that are associated with stabilization policies. 

Effective stabilization policies are subject to various time lags that can seriously weaken the objective of achieving noninflationary and sustained economic growth. The recognition lag is the elapsed time for policy makers to realize the need to do something. The implementation lag is the time needed to implement the policies and the response lag is the time between the introduction of the policy measures and their impact. 

Difficulty: M

Type: A
26. Explain why the implementation lag of fiscal policy is generally greater than the implementation lag of monetary policy. 

Fiscal policy, government spending and taxation,  is implemented by Congress changing the law and the executive changing its behavior.  For Congress to spend more, it must authorize more spending and then appropriate money.  Then the executive must spend the money or change tax collection.  On the other hand the Federal Open Market Committee meets regularly and can vote to change monetary policy.   

Difficulty: M

Type: A
27. Explain why is the response lag for monetary policy likely longer than the response lag for fiscal policy? 

Fiscal policy directly causes an increase in aggregate demand by government purchase of goods or by people having more after tax income.  Monetary policy works less directly as it takes people and firms longer to react to changes in interest rates. 

Difficulty: M

Type: C
28. Explain the important policy objectives of Federal Reserve monetary policies. 

The Federal Reserve strives to evolve and implement monetary policies that will provide for sustained and noninflationary economic growth. These policies are based on the relationship between changes in the money supply, the inverse impact on interest rates, and the resulting effects upon consumer and business investment spending. 

Difficulty: E

Type: C
29. Explain the relationship between changes in the money supply, interest rates, spending, and prices. 

Changes in the money supply inversely impact on interest rates. If the Federal Reserve seeks to pursue an anti-inflationary policy, it would decrease the money supply, which will increase interest rates. Higher interest rates will decrease consumer and business investment spending, which in turn will moderate aggregate spending and the inflationary pressure. To pursue an expansionary policy, the Federal Reserve would expand the money supply, which will lower interest rates and stimulate additional consumer and business investment spending. The increase in aggregate demand will stimulate the economy. 

Difficulty: M

Type: A
30. Explain the Federal Reserve's policy that is often called to "lean against the wind." 

The "lean against the wind" policy means that the Federal Reserve uses open-market operations to raise interest rates gradually to prevent the economy from expanding too rapidly. Conversely, the Fed lowers interest rates gradually over a contraction to lessen the recessionary slide. 

Difficulty: E

Type: D
31. Explain stagflation and the policy dilemma it presents. 

Stagflation is a condition characterized by high levels of inflation and unemployment. Thus, if the Federal Reserve pursues an expansionary policy to eliminate unemployment, the increased spending will further accelerate inflation. Equally, if the Federal Reserve seeks to pursue an anti-inflationary policy, the lessened spending will further accentuate the recessionary conditions of unemployment. 

Difficulty: E

Type: D
Monetary Inflation Targeting
32. Discuss the response lags for an expansionary monetary policy.

If the Fed lowers interest rates it may take firms a while to respond. For example, if firms are interested in making investment plans in new factories or equipment it will take time to assemble these plans. In the meantime, no new investment is taking place.

Difficulty: E

Type: C



33. Suppose the government is faced with a budget deficit of $50 billion. Explain why a cut in spending by precisely this amount may not balance the budget. What are the implications for policy if the goal is to balance the budget?

The reason is that the cut in spending will have the effect of reducing aggregate demand and hence trigger a decline in national output and income. This decline in national income will precipitate a decline in tax revenue for the government. The tax base for the government is the size of the economy. Therefore, the reduction in tax revenue may partially offset some of the budget deficit reduction power of the cut in spending. This means that the government may have to cut more spending than the amount of the deficit if its goal is a balanced budget.

Difficulty: E

Type: C



34. Why might it be imprudent for policy makers to try to cut a large government budget deficit all in one year?

If policy makers tried to cut a large government budget deficit all in one year it might risk driving the economy into a severe recession.

Difficulty: E

Type: C



35. Why would a balanced budget amendment to the Constitution be considered destabilizing during an inflationary boom in which the government is running a budget surplus?

A balanced budget amendment would require that tax revenue and government spending to be equal. If the government is experiencing a budget surplus this would either require a tax cut or an increase in government spending. Both of these actions would aggravate the inflationary boom.

Difficulty: E

Type: C

36. Why would a balanced budget amendment to the Constitution be considered destabilizing during a recession in which the government is running a budget deficit?

A balanced budget amendment would require that tax revenue and government spending to be equal. If the government is experiencing a budget deficit this would either require a tax increase or a reduction in government spending. Both of these actions would aggravate the recession.

Difficulty: E

Type: C

37. What might be the most prudent way to cut a large budget deficit if the government is concerned about driving the economy into recession?

The most prudent way to cut a large budget deficit would be to trim government spending little by little each year so as not to contract GDP by too large of an amount.

Difficulty: E

Type: C



38. What is the deficit response index?

It is the amount by which the deficit changes with a one-dollar change in GDP.

Difficulty: E

Type: D



39. Assume an economy with a budget deficit of $50 billion. Suppose the income multiplier is 1.5 and the deficit response index is .20. Calculate the new budget deficit if Congress cuts spending by the exact amount of the budget deficit.

First, the cut in spending would cause the economy to contract by 1.5 x $50 billion or $75 billion. With a deficit response index of .20 this means that the deficit will be offset by $15 billion (.20 x $75 billion). Because we initially cut spending by $50 billion, the net effect of the spending cut is to lower the deficit by $50 billion - $15 billion = $35 billion.

Difficulty: E

Type: A



40. Suppose that for every $10 billion decrease in GDP, tax revenue would fall by $1 billion. With a budget deficit of $200 billion and a multiplier of 4 what will be the new budget deficit if Congress cuts government spending by $100 billion.

First, the $100 billion cut in spending will cause GDP to contract by 4 x $100 billion = $400 billion. Since each $10 billion drop in GDP decreases tax revenue by $1 billion this amount to a $40 billion loss in tax revenue. Since government spending is being cut by $100 billion the net effect on the deficit is to reduce it by $60 billion.

Difficulty: E

Type: A



41. Assume an economy where the deficit response index is zero. If the budget deficit is $85 billion and the multiplier is 4 how much must government spending be cut in order to drive the deficit to zero? What role does the multiplier play in the solution to this problem?

Government spending must be cut by precisely $85 billion. The reason is that a deficit response index of zero indicates that any change in output will have no effect on the deficit. Therefore, the government's efforts to cut the deficit by cutting government spending will have a dollar for dollar impact. The multiplier plays no role in the solution.

Difficulty: E

Type: A



42. Assume the government is running a budget deficit of $40 billion and cuts spending by this amount. Suppose that this cut in spending resulted in a new budget deficit of $30 billion. With a multiplier of 1.5 what must be the value of the deficit response index?

First, the cut in spending would cause the economy to contract by 1.5 x $40 billion = $60 billion. Since we know that the budget deficit was offset by $10 billion ($40 billion - $30 billion) we can write the following:

DRI x $60 billion = $10 billion. Thus the DRI = $10 billion/$60 billion = 1/6 or .16.
Difficulty: E

Type: A



43. Explain why the pursuit of a balanced budget during a recession may be very difficult to pursue.

Pursuing a balanced budget during a recession may be difficult because the possible remedies (tax increases or cuts in government spending) will serve to be contractionary at a time when the economy is in need of an expansion.

Difficulty: E

Type: C



44. Why would an income multiplier of zero make balancing the budget easier?

It would make it easier because any cut in spending or increase in taxes would have no effect on output. That means that whatever cut in spending or tax increase will be applied to the deficit dollar for dollar.

Difficulty: E

Type: A



45. Under what circumstances might the income multiplier be zero? More specifically, there were those who argued that the income multiplier was zero during the passage of the Gramm-Rudman-Hollings Deficit Reduction Act. What was their argument?

The argument was that passage of a deficit reduction package may make households and firms more optimistic and induce them to consume and invest more. This increased consumption and investment would offset the effects of the decreased government spending, and the net result would be a multiplier of zero.

Difficulty: E

Type: C



46. Suppose that government tax revenues are represented by the following algebraic equation: T = - 100 + .1Y. Assume that government spending is $280 billion and the economy is operating at $3000 billion. Calculate the size of the budget deficit.

First, we calculate the amount of tax revenue by substituting $3000 billion in the tax revenue equation to yield 

- 100 + .1(3000) = 200 billion. With government of $280 billion, this represents a budget deficit of $280 billion - $200 billion = $80 billion.
Difficulty: E

Type: A



47. Assume an economy with a deficit response index of  -.20. With a budget deficit of $200 billion, what would be the impact on the budget deficit if the economy were to expand by $100 billion? Assume that the government takes no action to change taxes or government spending.

The budget deficit would decline by -.20 x $100 billion or - $20 billion. The new budget deficit would be $180 billion.

Difficulty: E

Type: A



48. Assume that the economy is in a recession. If the government were to increase spending while the Fed expanded the money supply, what would be the effect on interest rates and investment? Explain why your answer is likely to be ambiguous.

The effect on interest rates and investment is unknown. The answer is ambiguous because it makes a difference whether the Fed fully accommodates the increase in spending, partially accommodates or accommodates the policy too much.  In other words, if the Fed partially accommodates by only increasing the money supply a little then interest rates will still rise but not as much as they would without cooperation from the Fed. If the Fed fully accommodates, then interest rates will remain unchanged. If the Fed overcompensates then this could actually lead to a decline in interest rates, which could stimulate investment.

Difficulty: E

Type: C

49. Explain how an increase in government spending might actually result in a decline in the budget deficit.

An increase in government spending might actually result in a decline in the budget deficit if the income multiplier increases GDP enough to bring in more tax revenue for the government than the amount of government spending.

Difficulty: E

Type: C



50. Explain how a tax cut might actually result in a decline in the budget deficit.

A tax cut might actually bring about a decline in the budget deficit if the increase in GDP that would result was enough to bring in more new tax dollars than the amount lost through the tax cut. In addition, if the economy expands enough, the amount of transfer payments may decline enough to offset any initial cut in taxes.

Difficulty: E

Type: C



51. Assume that tax revenue is represented by the following function: T = - 200 + .25Y, where the first term represents net taxes and Y represents GDP. Assume furthermore that government spending is $400 billion and the economy is in equilibrium at $2000 billion. Calculate the value of the budget deficit.

Tax revenue will equal  -200 + .25(2000) = $300 billion. With government spending of $400 billion this gives rise to a budget deficit of $100 billion.

Difficulty: E

Type: C



52. Assume that tax revenue is represented by the following function: T = - 200 + .25Y, where the first term represents transfer payments and the second term represents gross tax revenue. Assume furthermore that government spending is $400 billion and the economy is in equilibrium at $2000 billion. Why would a cut in government spending by $100 billion not cause the budget deficit to disappear? If the income multiplier were two, what will the value of the budget deficit be after the cut in spending?

The reason that the budget deficit will not disappear is that the cut in government spending would cause GDP to contract. The lower GDP would also cause tax revenue to fall thus frustrating the effort of the government to cut the deficit to zero. First, the cut in spending of $100 billion will cause GDP to contract by 2 x -$100 billion = $200 billion. The economy will settle at $1800 billion. Substituting this into the tax revenue equation yields -200 + .25(1800) = $250 billion. This means that the budget deficit will only decline to $50 billion ($300 billion - $250 billion).

Difficulty: E

Type: C



53. What is a negative demand shock?

It is something that causes a negative shift in consumption or investment schedules or that leads to a decrease in U.S. exports.

Difficulty: E

Type: D



54. What are automatic stabilizers?

They are revenue and expenditure items in the federal budget that automatically change with the economy in such a way as to reduce the amplitude of fluctuations in GDP.

Difficulty: E

Type: D



55. What are automatic destabilizers?

They are revenue and expenditure items in the federal budget that automatically change with the economy in such a way as to as to increase the amplitude of fluctuations in GDP.

Difficulty: E

Type: D



56. Explain how deficit targeting can serve as an automatic destabilizer.

Deficit targeting changes the way the economy responds to negative demand shocks because it does not allow the deficit to increase. The result is a smaller deficit, but a larger decline in income than would have otherwise occurred.

Difficulty: E

Type: C



57. Give a some of examples of automatic stabilizers in the economy.

Changes in spending for unemployment compensation and the progressive nature of the federal income tax would both be considered automatic stabilizers. In addition, welfare and food stamps may also serve as automatic stabilizers as the economy slides into recession.
Difficulty: E

Type: F




58. What is the economic impact of automatic stabilizers during expansionary periods?

The impact is to provide more moderate expansionary growth.

Difficulty: E

Type: C



59. What is the economic impact of automatic stabilizers during contractionary periods?

The impact on the economy is to moderate contractionary pressures.

Difficulty: E

Type: C

60. Explain the "balanced-budget amendment."  Why are many economists who favor deficit reduction opposed to the balanced-budget amendment? Describe a condition in which a mandated balanced budget would be harmful to the nation's economic health. 

The "balanced-budget amendment"  is a deficit reduction measure. It would require that the annual government expenditures and taxes be equal so that budget deficits would be eliminated. Opponents of the balanced-budget amendment are concerned that it may seriously weaken the ability of government to implement appropriate macroeconomic policies. A balanced-budget requirement would negate the ability of the national government to pursue expansionary macroeconomic policies during a recession. Government would not be able to stimulate the economy with increased spending or reduced taxes. 

Difficulty: E

Type: D
61. Assume that government spending is reduced by $10 billion, the value of the expenditure multiplier is 2, and the DRI is -.25. What is the net effect of the spending decrease on the deficit? 

The expenditure multiplier of 2 means that the decrease in government spending of $10 billion will decrease GDP by $20 billion. The $20 billion decrease in GDP will increase the deficit by $5 billion (20 *(-.25)). Thus, the net effect of the spending cut is to lower the deficit by $5 billion (10 billion - 5 billion = 5 billion). 

Difficulty: M

Type: A
62. Explain automatic stabilizers and their impact on the economy. 

Automatic stabilizers represent automatic and nondiscretionary changes in government spending and tax revenue receipts that seek to be counter cyclical. Thus, they result in higher government spending and lower taxes during a recession, and lower government spending and higher taxes during a rapid expansionary period. 

Difficulty: E

Type: D
63. Illustrate examples of the counter cyclical effects of the automatic stabilizers. 

When the unemployment rate rises during recessions, unemployment compensation, which is a part of government spending, rises. The opposite happens when the economy expands and the unemployment rate decreases.

Also, the income tax increases tax obligations of consumers as incomes rise during economic expansion, and decreases tax obligations as incomes decline during recessionary periods. They tend to moderate the recessionary decline in spending and the excessive spending of rapid expansion. 

Difficulty: M

Type: C
64. Under what economic conditions could the deficit reduction targets of the Gramm-Rudman-Hollings Act be destabilizing? 

The deficit reduction targets of the Gramm-Rudman-Hollings Act mandated decreases in government spending and increases in taxes, regardless of economic conditions. Efforts to reduce the deficit during a recession would further accelerate the recessionary downturn and contribute to decreases in GDP income and employment. 

Difficulty: M

Type: C
65. Discuss what happens to the government budget deficit when government spending is reduced? 

The reduction in government spending will lower the deficit, but that will be off set at least in part by  the increase in the deficit associated with the decline in GDP. 

Difficulty: M

Type: C
66. What happens to the deficit, when government spending is increased? 

The increase in government spending increases the deficit, but that increase is partly off set by an reduction in the deficit associated with the increase in GDP due to the increase in government spending.   

Difficulty: M

Type: C
67. Describe FED policy since 2001. 

The FED responded to the 2001 recession with perhaps the most expansionary monetary policy in its history. 

Difficulty: M

Type: F
68. Suppose government spending is reduced by $100 billion. Explain what effect this reduction in government spending will have on the size of a budget deficit. Specifically, does the deficit increase or decrease? And, is any change in the deficit equal to, larger than, or smaller than $100 billion? 

The reduction in G of $100 billion will cause a reduction in economic activity. Assuming output does not change, the deficit would decrease by $100 billion. However, given that output will fall, we will also observe a reduction in tax revenue. So, some of the effects of the drop in G on the size of the deficit will be offset by a reduction in tax revenue caused by the lower output. 

Difficulty: M

Type: A
69. Explain what the deficit response index measures. Briefly explain why it is not equal to zero. 

The deficit response index measures the effect of a change in output on the budget deficit. Alternatively, the deficit response index measures the extent to which the deficit changes as a result of a one-dollar change in GDP. The reason the deficit response index is not equal to zero is because tax revenue changes as output changes. When output increases, tax revenue will automatically rise. This increase in tax revenue will cause the deficit to shrink. 

Difficulty: M

Type: C
70. The unemployment rate in some European countries has recently been significantly higher than the unemployment rate in the United States. Explain what factors might cause the European unemployment rate to be higher. 

There are several possible explanations. Relatively high unemployment benefits might cause individuals not to search hard for jobs. Others argue that individuals lose skills as they remain unemployed. Union power may also explain it. Unions, these individuals argue, will raise the real wage, which causes a reduction in employment and an increase in unemployment. Others argue that macro policy has been too tight. This would cause aggregate demand to be less than it otherwise would; therefore, output would be lower than it otherwise would. The lower output causes the demand for labor to be lower and unemployment to be higher. 

Difficulty: M

Type: A
71. To what extent can monetary policy ease the macroeconomic effects of any budget that calls for a reduction in government spending or increase in taxes? Explain. 

This is essentially a policy mix question. A reduction in G or increase in T will cause a reduction in aggregate demand and a reduction in output. The Fed can completely eliminate the output effects of these fiscal actions by increasing the money supply (i.e., a monetary expansion). 

Difficulty: M

Type: A
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